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G000 0> 10 °0> — — |100°0>| — — — — — — — — —
200 0> 10 °0> — — |e00°0>| — — — — — — — — —
9000 0> 900 "0> — — |9000°0>| — — — — — — — — —
5000 "0> > — — 1o | — — — — — — — — —
700 "0> 70 °0> — — |voo0>| — — — — — — — — —
700 "0> 1°0> — — |g00°0>| — — — — — — — — —
200 "0> 700 0> — — [v000°0>| — — — — — — — — —
7000 "0> 200 0> — — |2000°0>| — — — — — — — — —
2000 "0> 200 °0> — — |2000°0>| — — — — — — — — —
2000 0> 20 °0> — — |200°0>| — — — — — — — — —
200 "0> e S | — —  |H¥k | — — — — — — — — —
G000 0> e ARHE | — — |H¥| — — — — — — — — —
G000 0> G000 0> — —  [s000°0>| — — — — — _ — _ —
100 0> 10 0> — — |100°0>| — — — — — — — — —
10 °0> G0 °0> — — |wo| — — — — — — — — —
600 "0> 100> — — |100°0>| — — — — — — — — —
1°0> {chHAMfHE | — — | H¥k | — — — — = — — — —
£00 0> £00 0> — — |000°0>| — — — — — — — — —
0°0~0"0 — €0 | 00| o0| 00| 00| €| 00| L9]| s0o| zo0o| 11| 00
GF TI~TF '8 — 05°G| 00°L| 0S¢ | 09°8| OF8| 0£°0T| 09°0T| 0I°8 | OL'TIT| 068 | 0L°6| OV'6
16 °9~01 9 — 269 | 69°9| 859 | 62°9| 99| L19| 09| ¥E9| ST°9| 0r9| 90°9| Sv9
3°02~6"01 — el | ¢l | 8@ | 091 | 06L| ¥6L| 805 | SIg| L8L| S9T| L¥I| €31
LV 7~18°¢ — Wy | 8P| asv| €W ¥ | ve¥ | 0% | 90F| €0V | 22F| 90F| 9% | 82F
08 T~FI ¥ — LY | 18| S8F | 9LV | 29| €8V | 68V | 9€F | SeV| 6eV | 65F | 19°F
— — OFL| 0G| L€ | Lor| 691 | 8.1 | 082| ¥'6c| 80¢| V1€ | V63| ¥'IC
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